
How should I write my answer? and why?
As an improper fraction (13/2)? 

As mixed number (5-1/2)? 

As a decimal number  (4.32)?


Should I use π or 3.14?

Should I round UP (4.8 is about 5), or should I round DOWN?  (4.8 rounds down to 4).
Should I leave my answer in square-root form (√7) or use my calculator for a decimal number?
----------------------------------------------------------------------------------------------------------------------------------------
1)  
Sydney has $1000 maximum for a vacation. The hotel costs $62/night, food is $30/day, and daily entertainment activities average $55/day? How many days can she afford to stay on vacation?





62 + 30 + 55 = $157 per day
1000 ÷ 157 = 6.369 days
	A. I would leave my answer as 6.369
	because

	B.  I would round down to 6
	

	C.  I would round up to 6.5 or 6 ½
	

	D. I would round up to 7
	


2) 
Your teacher is planning a field trip and needs to decide how many buses to order. 125 students have signed up for the trip; if each bus holds 40 students how many buses should she order?  





125 ÷ 40 = 3.125
	A.   I would use 3.125
	because

	B.   I would round up to 3.2
	

	C.   I would round up to 4
	

	D.   I would round down to 3
	


3) 
You need to use a measuring cup that is divided into ½, ¼ 1/3, 2/3s. The recipe says you need ¾ cups of water and 1-cup of pancake mix. You want to make double that amount. How much water will you need?  






(2)(¾) =   6/4  or   3/2   or  1½    or   1.5  cups? 
I would write my answer as

	A.   6/4 cups
	because

	B.   3/2 cups
	

	C.   1 ½ cups
	

	D.   1.5 cups
	


4) 
Use the slope of a line and the coordinate (2, -6) to plot a line. How should you write the slope? 

	A.  as a decimal number  
	1.50
	because

	B.  as a mixed number 
	1 ½
	

	C.  as an integer rounded to the nearest whole number 
	2
	

	D.  as a fraction or improper fraction  
	3/2
	


5) 
Put these numbers in order from smallest to largest:     √9         (8 ÷ 3)          π          (14)(.25)

If I can use a calculator it would be easy to compare them if
	A.  I changed all to whole numbers. 
	because

	B.  I changed all to fractions.

 
	

	C.  I changed all to fractions with a common denominator.
	

	D.  I changed all to decimal numbers. 
	


6) 
Plot the y-intercept of the line show by the equation





2 y  =  4x  - 11





 2y   = 4x  - 11    which simplifies to   y = 2x - 11/2
  



  2        2      2 
I would write the y-intercept as
	A.     -11/2
	because



	B.     - 5.5 
	

	C.     - 5
	

	D.     -6
	


7) 
You are asked to find the midpoint of line-segment AB. The coordinates of point A are (8,4); the coordinates of point B are (-3,7). 

You need to find the average of the x’s and the average of the y’s to find the midpoint.


8 – 3  ,     4 + 7    this simplifies to   5,  11  (the midpoint)
  
  
   2               2                                           2    2

What would be the best way to write the answer so you can plot the midpoint easily?
I would write the midpoint as 

	A      5,   11  

         2     2

                                           
	because

	B.     2.5, 5.5 


	

	C.     2 ½, 5 ½

 
	


8) 
Your school club is planning a party. You expect 38 people to attend. If each table holds 8 people comfortably how many tables should you set up?   38 ÷ 8 = 4.75

I would write the answer as

	A.     4.75
 
	because

	B.    4.8 

(I rounded up to nearest 10th) 
	

	C.     5  
(I rounded up to nearest whole number)
	

	D.    4
 (I rounded down to nearest whole number)
	


9) 
You are a salesman and are required to submit a mileage form for the miles traveled. You traveled 24.3 miles one way. How much will you be paid for a round-trip if you use 31 cents per mile? You are paid in dollars only.




(24.3 miles)($.31) = $7.533; then 7.533(2) = $15.066   or



(24.3 miles)(2) = 48.6 miles; then (48.6)($.31) =  $15.066   

Should you round up or down? Why?
	A.  I would leave $15.066
	because



	B.  I would round down to $15
	

	C.  I would round up to $15.07
	

	D.  I would round up to $16
	


10)
Which is the most accurate sum of   √5  +  3√5 ?

	A.      2.23606707749979 +  3(2.2361)

                              = 8.94436707749979


	because

	B.     √5  +  3√5  = 4√5  

    
	

	C.     2.2  + 6.69 = 8.89


	


11) 
What is the most exact area of two circular swimming pool covers if one has a radius of 4 feet, and the other has a radius of 6 feet?

Should you work with π or with 3.14 as you compute the areas?
Note: Area = π r 2
Your answer would be more exact if you used your calculator and use
	A. 
(3.14)(6)(6) + (3.14)(4)(4) =
	because



	B. 
 (3.14) (62) + (3.14) (42) =
	

	C. 
(π) (62) + (π) (42) =
	


12)
John mowed lawns for two neighbors. He mowed from noon to 2:10pm; and then again from 4:00pm – 6:20pm.  He is paid $8 per hour for his work.  How should he show his total time?
	A.   4 hours and 30 minutes
	because

	B.   4.5 hours
	

	C.   270 minutes
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